
1+tg2=1/cos21+ctg2=1/sin2


    sin()=sincos±cossinsin=2tg/(1+tg2)


    cos()=coscos-±sinsincos=(1-tg2)/(1+tg2)


    tg()=(tg±tg)/(1-±tgtg) tg=2tg/(1-tg2)


     cos(/2)=±{(1+cos)/2}    sin(/2)=±{(1-cos)/2}   .


tg(/2)=(1-cos)/sin=sin/(1+cos) 


tg=tg(3-tg2)/(1-3tg2)


cos=4cos33cos=4cos(60º-)cos(60º+)


sin=3sin-4sin3=4sin(60º-)sin(60º+)


cos+cos=2cos[(+)/2]cos[()/2]     an=a1+d(n-1)


sin+sin=2sin[(+)/2]cos[()/2]      aSn=0.5n(a1+an)


cos-cos=-2sin[(+)/2]sin[()/2]      bn=b1qn-1


sin-sin=2cos[(+)/2]sin[()/2]       bSn=b1(1-qn)/(1-q)


tg±tg=sin(±)/(coscos)                убSall=b1/(1-q)


tg+ctg=2/sinax2+bx+c=0


coscos=0.5[cos(+)+cos()]          x1+x2=-b/a


sinsin=0.5[cos()-cos(+)]            x1x2=c/a


sincos=0.5[sin(+)+sin()]           ax3+bx2+cx+d=0


sin=2tg(0.5)/[1+tg2(0.5)]                 x1+x2+x3=-b/a


cos=[1-tg2(0.5)]/[1+tg2(0.5)]           x1x2x3=-d/a


tg()=2tg(0.5)/[1-tg2(0.5)]                x1x2+x2x3+x1x3=c/a


1+cos=2cos2(0.5)      1-cos=2sin2(0.5)


 (a±b)3=a3±b3±3ab(a±b)  }{ a3±b3=(a±b)(a2+b2-±ab)


           ykac=f’(x0)(x-x0)+f(x0) (c/v)’=-cv’/v2{c=const}


треугольник S=rp   S=abc/4R   S=a2({3}/4


4хугольник S=0.5d1d2sin(d1^d2)


сектор  l=rS=0.5r2
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1+tg2=1/cos2 <> 1+ctg2=1/sin2


             sin()=sincos±cossinsin=2tg/(1+tg2)


             cos()=coscos-±sinsincos=(1-tg2)/(1+tg2)


             tg()=(tg±tg)/(1-±tgtg)      tg=2tg/(1-tg2)


    cos(/2)=±{(1+cos)/2}   cos=4cos33cos=4cos(60º-)cos(60º+)


    sin(/2)=±{(1-cos)/2}     sin=3sin-4sin3=4sin(60º-)sin(60º+)      tg(/2)=(1-cos)/sin=sin/(1+cos)          tg=tg(3-tg2)/(1-3tg2)


cos+cos=2cos[(+)/2]cos[()/2]  sin+sin=2sin[(+)/2]cos[()/2]


cos-cos=-2sin[(+)/2]sin[()/2]   sin-sin=2cos[(+)/2]sin[()/2]


tg±tg=sin(±)/(coscos)               tg+ctg=2/sin


coscos=0.5[cos(+)+cos()]        sin=2tg(0.5)/[1+tg2(0.5)]


sinsin=0.5[cos()-cos(+)]           cos=[1-tg2(0.5)]/[1+tg2(0.5)]


sincos=0.5[sin(+)+sin()]          tg()=2tg(0.5)/[1-tg2(0.5)]


                       1+cos=2cos2(0.5)   1-cos=2sin2(0.5)


         an=a1+d(n-1) aSn=0.5n(a1+an) }{ bn=b1qn-1   bSn=b1(1-qn)/(1-q)


убSall=b1/(1-q)


                 (a±b)3=a3±b3±3ab(a±b) }{ a3±b3=(a±b)(a2+b2-±ab)


ax2+bx+c=0; x1+x2=-b/a; x1x2=c/a


ax3+bx2+cx+d=0; x1+x2+x3=-b/a; x1x2x3=-d/a; x1x2+x2x3+x1x3=c/a


                        ykac=f’(x0)(x-x0)+f(x0) (c/v)’=-cv’/v2{c=const}


треугольник S=rp   S=abc/4R   S=a2({3}/4


4хугольник S=0.5d1d2sin(d1^d2)


сектор  l=rS=0.5r2





�
0�
�
/4�
/3�
/2�
�
3/2�
2�
�
Sin�
0�
0.5�
�
�
1�
0�
-1�
0�
�
Cos�
1�
�
�
0.5�
0�
-1�
0�
1�
�
Tg�
0�
1/�
1�
�
---�
0�
---�
0�
�
Ctg�
---�
3�
1�
1/3�
0�
---�
0�
---�
�



=�
/2 ± �
 ± �
/2 ± �
2�
�
Sin �
cos �
-± sin �
- cos �
- sin �
�
Cos �
-± sin �
- cos �
± sin �
cos �
�
Tg �
-± ctg �
± tg �
-± ctg �
- tg �
�
Ctg �
-± tg �
± ctg �
-± tg �
- ctg �
�



накнопано by KalbasKa


распринтовано by KalbasKa











